Question 1
Question text

How many times (approximately) did foodgrains production in India increase during 1965-66 to
2019-20?

Select one:
a. 8 times
b. 2 times

c. 4 times

T D

d. 6 times

Question 2
Question text
Transition of Indian Agriculture can be broadly divided into how many phases?

Select one:
a. 3 phases
b. 4 phases

c. 2 phases

D

d. 5 phases
Question 3

Question text
Did the reforms of 1990s benefit agriculture sector?
Select one:

a. somewhat

b. No

c. doesn’t arise as the it reforms bypassed the sector

d. Yes

D



